HERKULESBUBEN
L X K2

RANGLISTE MITGLIEDER +

(MITGLIEDER MIND. 36% GESPIELTE SERIEN)

97. SPIELABEND AM 30.11.21

FR. 26. NOVEMBER DI. 30. NOVEMBER || GESPIELTE SERIEN VERL
RANG NAME SCHNITT| +/- || GEW | VERL|
1.sER.| 2. sER.| GEs. ||1.sEr.|2.sErR.| GEs. || A | v | %

= |LOHSE, m1. 4 |6 1.110 10,3 1,0 | 5,2

1 | = [BAUCKLOH, A. o | 86 | 47% | 1.0a8 11,2 1,4 [ 3,8
2 | = |BAUCKLOH, W. o |82 |as%| 1.010 95 | 0,7 | 40
= [RuHKAMP a | 22 993 11,8 2,9 | 4,5

3 | = [HoNAUER qc, 1.447 | 1.021 a4 |62 |36%| 987 | +2 |[109] 1,8 | 3,9
= |BRAUNHAHN o 1.285 2 | 36 985 | +9 120/ 26 | 41

4 | = [kuriNG 3 1.029 | 766 6 |90 | 52%| 963 2 N8| 19 |34
= |[knOFEL g . 0 [119] 65%| 94a 109 | 2,1 | 3,0

6 | = l[eLacow = "E" 1.036 6 [123]|71%| 944 | +1 |10, 16 | 30
= [mauL S E 1.401 | 470 a | 29 940 a1 No7 185s8

7 | = |v. ROOS o N o |8 |a6%| 935 104 1,8 | 3,3
= |BREITFELD = a | 23 922 95 | 1,9 | 4,2

= |winTER o] 3‘ 987 | 855 o | 15 904 | +3 10,7 25 | 31

= [skwARski qc, L) 641 | 1.366 2 | 14 903 | +16 ||109] 2,2 | 4,9

= |GEsSNER '% t?n 4 | 28 869 9,0 | 1,6 | 46

= |DELLITH TR a4 [176 | 99% | 832 87 |14 | 40

= |GANTE 3— g 257 4 |17a]| 98%| s11 -4 |l103] 26 | 32

= |[kem a4 | 19 793 75 | 1,5 | 5,8

= |FLOTER 0o | 52 790 89 |17 |30
10| = [KUDERLING 446 | 568 2 113 ] 63%| 785 5 Ns2{16]36
= |EWERT, UWE 2 | 23 782 72 13 |54

= |[krATZSCH 2 | a2 770 75 [ 1,1 |37
11| = |[kOSSINGER 2 |94 |53%] 732 71 | 1,0 | 30
12| = |PORTER 2 | 79 | aa%| 707 79 [ 16 | 31
= |BLAUERT, A. 4 | 19 536 51 | 1,2 | a5

= |BOHM - 1% | 1.270 16,0 [ 2,0 | 2,0

= [DANNER - 4% | 1.233 135 2,0 | 4,8

= |TrRiEB - 5% | 1.090 10,8 1,8 | 4,9

= [LANGER - {16 | 9% | 872 91 | 1,4 |45

= |BOLTE - 4% | 697 99 [31]35

= |wieser - 1% | 456 90 |35 |30

= |GRIEBEL - 1% | 287 50 | 2,0 | 6,0
DURCHSCHNITT | 872 97 | 1,8 | 41




